# **JANUARY 24, 2018 HEARINGS**

## ARKANSAS RESIDENTIAL CONTRACTORS COMMITTEE

VS

## ANDREW RING, D/B/A B & J CONSTRUCTION

## ORDER

The Committee voted unanimously that ANDREW RING, d/b/a B & J CONSTRUCTION shall pay a civil penalty of \$400.00 per day for 20 days of activity for a total of \$8,000.00 for violation of Section 17-25-505 payable to the Committee within twenty (20) days. The Committee further ordered that a cease and desist order be issued against ANDREW RING, d/b/a B & J CONSTRUCTION to prevent them from performing work in violation. ANDREW RING, d/b/a B & J CONSTRUCTION shall refrain from bidding on or performing work as a residential contractor prior to being licensed with the Residential Contractors Committee.

## ARKANSAS RESIDENTIAL CONTRACTORS COMMITTEE

VS

## EDWARD SCHIELE. D/B/A SCHIELE HOME IMPROVEMENT

### ORDER

The Committee voted unanimously that EDWARD SCHIELE, d/b/a SCHIELE HOME IMPROVEMENT shall pay a civil penalty of \$400.00 per day for 2 days of activity for violation of Section 17-25-505 payable to the Committee within twenty (20) days. The Committee further ordered that a cease and desist order be issued against EDWARD SCHIELE, d/b/a SCHIELE HOME IMPROVEMENT to prevent them from performing work in violation. EDWARD SCHIELE, d/b/a SCHIELE HOME IMPROVEMENT shall refrain from bidding on or performing work as a residential contractor prior to being licensed with the Residential Contractors Committee.

### ARKANSAS RESIDENTIAL CONTRACTORS COMMITTEE

VS

**JASON HARLAN** 

## ORDER

The Committee voted unanimously that JASON HARLAN shall pay a civil penalty of \$400.00 per day for 35 days for a total of \$14,000.00 for violation of Section 17-25-505 payable to the Committee within twenty (20) days. The Committee further ordered that a cease and desist order be issued against JASON HARLAN to prevent them from performing work in violation. JASON HARLAN shall refrain from bidding on or performing work as a residential contractor prior to being licensed with the Residential Contractors Committee.

## ARKANSAS RESIDENTIAL CONTRACTORS COMMITTEE

VS

## JAMES YOUNG, D/B/A YOUNG'S HANDYMAN

## ORDER

The Committee voted unanimously that JAMES YOUNG, d/b/a YOUNG'S HANDYMAN shall pay a civil penalty of \$400.00 per day for 15 days for a total of \$6,000.00 for violation of Section 17-25-505 payable to the Committee within twenty (20) days. The Committee further ordered that a cease and desist order be issued against JAMES YOUNG, d/b/a YOUNG'S HANDYMAN to prevent them from performing work in violation. JAMES YOUNG, d/b/a YOUNG'S HANDYMAN shall refrain from bidding on or performing work as a residential contractor prior to being licensed with the Residential Contractors Committee.

## ARKANSAS RESIDENTIAL CONTRACTORS COMMITTEE

vs

R C GRANITE & MORE, LLC

### ORDER

The Committee voted unanimously that R C GRANITE & MORE, LLC shall pay a civil penalty of \$400.00 per day for 20 days of activity for a total of \$8,000.00 for violation of Section 17-25-505 payable to the Committee within twenty (20) days. The Committee further ordered that a cease and desist order be issued against R C GRANITE & MORE, LLC to prevent them from performing work in violation. R C GRANITE & MORE, LLC shall refrain from bidding on or

performing work as a residential contractor prior to being licensed with the Residential Contractors Committee.

## ARKANSAS RESIDENTIAL CONTRACTORS COMMITTEE

VS

## CLANTON TAYLOR, D/B/A BUILDING SOLUTIONS, INC.

## ORDER

The Committee voted unanimously that CLANTON TAYLOR, d/b/a BUILDING SOLUTIONS, INC. shall pay a civil penalty of \$400.00 per day for 20 days of activity for a total of \$8,000.00 for violation of Section 17-25-505 payable to the Committee within twenty (20) days. The Committee further ordered that a cease and desist order be issued against CLANTON TAYLOR, d/b/a BUILDING SOLUTIONS, INC. to prevent them from performing work in violation. CLANTON TAYLOR, d/b/a BUILDING SOLUTIONS, INC. shall refrain from bidding on or performing work as a residential contractor prior to being licensed with the Residential Contractors Committee.

## ARKANSAS RESIDENTIAL CONTRACTORS COMMITTEE

VS

# **ELITE FLOORING SERVICES, LLC.**

#### ORDER

The Committee voted unanimously that ELITE FLOORING SERVICES, LLC shall pay a civil penalty of \$400.00 per day for 12 days of activity for a total of 4,800.00 for violation of Section 17-25-505 payable to the Committee within twenty (20) days. The Committee further ordered that a cease and desist order be issued against ELITE FLOORING SERVICES, LLC. to prevent them from performing work in violation. ELITE FLOORING SERVICES, LLC. shall refrain from bidding on or performing work as a residential contractor prior to being licensed with the Residential Contractors Committee.

## ARKANSAS RESIDENTIAL CONTRACTORS COMMITTEE

VS

# ENCORE RENOVATION AND DESIGN LLC ORDER

The Committee voted unanimously that ENCORE RENOVATION AND DESIGN LLC shall pay a civil penalty of \$400.00 per day for 21 days of activity for a total of \$8,400.00 for violation of Section 17-25-505 payable to the Committee within twenty (20) days. The Committee further ordered that a cease and desist order be issued against ENCORE RENOVATION AND DESIGN LLC to prevent them from performing work in violation. ENCORE RENOVATION AND DESIGN LLC shall refrain from bidding on or performing work as a residential contractor prior to being licensed with the Residential Contractors Committee.

## ARKANSAS RESIDENTIAL CONTRACTORS COMMITTEE

VS

# WILLIAM ASHING & KIM BREWER, D/B/A ASAP HOME DESIGN & REMODEL

### ORDER

The Committee voted unanimously that WILLIAM ASHING & KIM BREWER, d/b/a ASAP HOME DESIGN & REMODEL shall pay a civil penalty of \$400.00 per day for 19 days of activity for a total of \$7,600.00 for violation of Section 17-25-505 payable to the Committee within twenty (20) days. The Committee further ordered that a cease and desist order be issued against WILLIAM ASHING & KIM BREWER, d/b/a ASAP HOME DESIGN & REMODEL to prevent them from performing work in violation. WILLIAM ASHING & KIM BREWER, d/b/a ASAP HOME DESIGN & REMODEL shall refrain from bidding on or performing work as a residential contractor prior to being licensed with the Residential Contractors Committee.

## ARKANSAS RESIDENTIAL CONTRACTORS COMMITTEE

## **EDDIE COLQUITT**

## **ORDER**

The Committee voted unanimously that EDDIE COLQUITT shall pay a civil penalty of \$400.00 per day for 9 days of activity for a total of \$3,600.00 for violation of Section 17-25-505 payable to the Committee within twenty (20) days. The Committee further ordered that a cease and desist order be issued against EDDIE COLQUITT to prevent them from performing work in violation. EDDIE COLQUITT shall refrain from bidding on or performing work as a residential contractor prior to being licensed with the Residential Contractors Committee.

## ARKANSAS RESIDENTIAL CONTRACTORS COMMITTEE

VS

MUSIC MAN ROOFING, LLC

## **ORDER**

The Committee voted unanimously that the license of MUSIC MAN ROOFING, LLC is hereby revoked for misconduct MUSIC MAN ROOFING, LLC shall refrain from bidding on or performing work as a residential contractor prior to being licensed with the Residential Contractors Committee.

## ARKANSAS RESIDENTIAL CONTRACTORS COMMITTEE

VS

PETER L. YOUNG

## **ORDER**

The Committee voted unanimously that the license of PETER L. YOUNG is hereby revoked for misconduct. PETER L. YOUNG shall refrain from bidding on or performing work as a residential contractor prior to being licensed with the Residential Contractors Committee.

# SETTLEMENT AGREEMENTS

44210 BIG ADVENTURES POOLS & SPAS, LLC \$200.00 44047 QUINTIN HOLLON DBA - HOLLON PRESERVATION SERVICES \$300.00
44165 LEE BATEMAN DBA - NAMETAB CONSTRUCTION \$700.00 43969 ROYAL CONTRACTORS OF LA LLC \$400.00
27462 SNS CONSTRUCTION, LLC \$500.00 44045 TONY LANGFORD DBA - TONY LANGFORD ROOFING \$200.00
39023 WATSON HOME IMPROVEMENTS INC. \$300.00 44148 JAYME'S INTERIORS INC\$1,000.00 reduced to \$200.00 if no further violations for 2 years
44087 FREDRICK SMITH \$800.00 reduced to \$200.00 if no further violations for 2 years and pay any judgment
44211 CHANNELL ENTERPRISES, INC. \$300.00 44167 CHAD BARGER DBA - THE HONEY DO GUYS OF ARKANSAS
\$400.00 44132 RYAN GOLDSMITH AND CODIE ALEXANDER DBA - RJC HOME
IMPROVEMENT \$4,000.00 reduced to \$300.00 if no further violations for 3 years and pay any judgment
44065 CCW PROPERTIES, INC. \$3,500.00
20406 GULLEY PLUMBING & CONSTRUCTION CO. LLC \$3,500.00 22382 CARL C. MCCORD DBA - MCCORD CONTRACTING \$700.00
reduced to \$300.00 if no further violations for 2 years 44217 BILLY BONHAM \$200.00
44249 KEVIN LONG DBA - KEVIN LONG CONSTRUCTION, LLC \$200.00 44219 HENRY COOPER DBA - GLOBAL CONSTRUCTION \$2,000.00 and
cease and desist 44077 GNZ CONTRACTOR SOLUTIONS, LLC\$400.00
43914 JEFF GRUBE \$2,400.00 reduced to \$200.00 if no further violations for 3 years, pay any judgment, and make payments as agreed to homeowner